RE FAAXUEREAERR
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B pg-TEQ/{R

Wik Hh 4 WRR23MEE | ERR224EE | HARERS
U H ik st-1 0.077 0.095 —HIR
st—2 0.078 0.085 —EIR
DU H T - 5 i S ik st=3 0.092 0.082 —HIR
st—4 0.054 0.087 —EIR
st=5 0.031 0.079 —EIR
A« FN P e M ek st-1 0.023 0.077 IR
st=2 0.027 0.070 —EIR
st-3 0.077 0.066 —EIR
(A e ek st—4 0.029 0.068 — R
FHEE st-1 0.019 0.063 —ER
st=2 0.018 0.064 —EIR
SN st-1 0.022 0.069 — R
st=2 0.021 0.063 —EIR
Frprs st—1 0.023 0.063 —HIR
I RAE st-1 0.028 0.064 —HR
PV st—1 0.019 0.064 — R
st=2 0.027 0.063 —EIR
s st-1 0.017 0.063 —ER
st—2 0.023 0.063 —EIR
st-3 0.024 0.063 —EIR
st—4 0.064 0.063 — IR
e RAHE 0.092 0.095
/M 0.017 0.063
S i 0.038 0.070
iR 21 21
R 10 10
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k44 Hh 4 WRR23MEE | SERR224EE | HARERS
U H ik st-1 9.7 13 —HR
st=2 14 16 — R
DU H T - 5 i S ek st-3 13 15 —HIR
st—4 14 19 — R
st=5 15 15 —HIR
AL « RN Mt S g st-1 22 0.57 —HIR
st=2 18 20 — R
st-3 5.3 14 —HIR
(A e ek st—4 0.085 1.1 — R
FHEE st-1 19 20 —ER
st—2 2.9 1.2 — R
SR st-1 2.2 2.8 — R
st=2 2.7 3.4 — R
Fr P st-1 0.077 0.29 —HIR
1 RAE st-1 2.2 5.0 —HR
PV st-1 12 8.2 —HER
st=2 0.23 0.23 — R
s st-1 2.4 4.0 —HER
st=2 3.1 3.3 — R
st-3 0.37 0.42 SR
st—4 6.3 0.95 — R
SN[ 22 20
e/ IME 0.077 0.23
SEH it 7.8 7.8
iR 21 21
TR 10 10
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